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The function f is defined on[0,7].The graph of its derivative ， 'f  is shown 

above. 

 

(A)y=2 (B)y=5 (C)y=0 (D)y=2x+5 (E)y=2x-5 
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7.How many points of inflection does the graph y=f(x) have over [0,7]？ 

(A)0 (B)1 (C)2 (D)3 (E)4 

 

 

 

 

(A)1 (B)2 (C)4 (D)6 (E)7 
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11. If y=2xy-x2+3，then when x=1，
dy

dx
=  

   (A)-6 (B)-2 (C)
2

3
−  (D)2 (E)6 

 

 

 

 

 

(A)0 (B)1 (C) 2  (D) 3  (E)
2


 

 

 

 

 

(A)-2 (B)-1 (C)
2

3
 (D)1 (E)None of the above 
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(A)0 (B)1 (C)2 (D)3 (E)4 
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(A)
1

8
 (B)

3

8
 (C)2 (D)3 (E)8 
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(A)
3

2
 (B)

3

2
 and 

1

2
−  (C)0 (D)

3

4
−  and 

1

2
 (E)None of the above 

 

 

(A) 1
dy

x
dx

= +  (B)
dy

x y
dx

= −  (C)
2

dy x y

dx

+
=  (D)

dy
y x

dx
= −  (E) 1

dy
y

dx
= +  

 

 

(A)
5

e
 (B) 210e  (C)

2

10

e
 (D)2 (E)5e 
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(A)100 (B)200 (C)300 (D)400 (E)500 

 

(A)-9.425 (B)0.567 (C)0.703 (D)0.773 (E)1.763 
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(A)
2

4

P
 (B)

4

2

P
 (C)2P (D)P (E)

2

P
 

 

(A)-2 (B)-1 (C)0 (D)1 (E)2 

 

(A)1.239 (B)1.142 (C)1.029 (D)0.941 (E)0.876 
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(A)   (B)g(10)-h(10)+30 (C)g(10)-h(10)+30-g(0)-h(0) 

 

 

 
(A)7.000 (B)7.267 (C)7.356 (D)7.389 (E)7.667 

 

 
(A)0.334 (B)0.978 (C)1.022 (D)1.304 (E)4.666 
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p.593~602 ANS p.605 


